301004H% .5 | =z

Puzzle 1 (Medium, difficulty rating 0.50)

-

|

~t|o|oo—|wl—|xjm] ol |m|=|w|ofo] S |=[|ofw]|m|o|—|© Blwo|—|—]o|m|o]|au|o| <
2 2 S

o|w|—|<|n|o]o|~|o]  Slo|w]—|o|o|Nfo|s =] Sle|w]| oo —| o= || o |ovfo]oo|<t|—|ofm|~—
o ¥

|| o —|m|o|<|w|o] -Slo|~|o]o||w]n|—|m] -Slo|—|o|~|~|<t]|o|w|m Cl<t|m| o] || —]o|—|w©
© o 2

al|o|o|m|w(~lo|st[—|  Sr|o|m|o|w|—|s|ajo] S| o|o]c|o|—]m| |’ 3|o|o|N|o|—| < |~|w|o
=] = £

— <t ]| ol=[m]|o %1692_{4835 %845637291 Blo|o|—|w|~|~]o|<|m
© o €

o|m|~|o|<t|—|w|olaf S|t ool ofo|~|— Ao —| = |o|wf—|o|o]  S|~[<|w]m|o|o]—[x|]
e]

j-. )

] © (]

o[~ |<|~lo|majofv] I~ |w|ofo|m|ols]  wlw|o~|m|ofaf—|ofs]  S|o|w|<st|~|o|m]o|wo|—
N ™ <t

o|~|m|w|o]| oo+ olo|m|w]<t|—|o|—|o|a] o)l |w]|—]|o]wo]|m]| o ol —|o| o] | | ]m|—|1o
N N N

w|o|Nfof—[sfoloi-]  Sls(o|of-|afml—|wjol - Sjolofml—|<|ofw|~ zle|=| ]| o|w| |










